
 

 

 

Answer on Question #44669 – Math - Trigonometry 

Prove that in a triangle with angles A, B and C; and sides of length a, b and c that:  

 

 1/[(a-b)(a-c)]*tan(A/2) + 1/[(b-c)(b-a)]*tan(B/2) + 1/[(c-b)(c-a)]*tan(C/2) =(Area 

of triangle)^(-1) 

 

 {NOTE: 'a' is the length of side opposite to angle A, likewise 'b' is the length of 

side opposite to angle B and similarly 'c' is the length of side opposite to angle C.} 

Solution. 

According the Law of cosines: 𝒄𝒐𝒔𝑨 =
𝒃𝟐+𝒄𝟐−𝒂𝟐

𝟐𝒃𝒄
 

As we know  

 𝒄𝒐𝒔𝑨 = 𝟐𝒄𝒐𝒔𝟐 𝑨

𝟐
− 𝟏 →   𝒄𝒐𝒔𝟐 𝑨

𝟐
=

𝟏+𝒄𝒐𝒔𝑨

𝟐
=

𝒃𝟐+𝒄𝟐−𝒂𝟐+𝟐𝒃𝒄

𝟒𝒃𝒄
=

(𝒃+𝒄−𝒂)(𝒃+𝒄+𝒂)

𝟒𝒃𝒄
=

𝒔(𝒔−𝒂)

𝒃𝒄
,   where  

𝒔 =
𝒂+𝒃+𝒄

𝟐
. 

𝒄𝒐𝒔
𝑨

𝟐
= √

𝒔(𝒔 − 𝒂)

𝒃𝒄
,   𝒔𝒊𝒏

𝑨

𝟐
= √

(𝒔 − 𝒃)(𝒔 − 𝒄)

𝒃𝒄
,  

  𝒕𝒂𝒏
𝑨

𝟐
= √

(𝒔 − 𝒃)(𝒔 − 𝒄)

𝒔(𝒔 − 𝒂)
=

𝑷

𝒔(𝒔 − 𝒂)
 

Where 𝑷 = √𝒔(𝒔 − 𝒂)(𝒔 − 𝒃)(𝒔 − 𝒄)   -  area of the triangle (Heron’s formula). 

Similarly:    𝒕𝒂𝒏
𝑩

𝟐
=

𝑷

𝒔(𝒔−𝒃)
,    𝒕𝒂𝒏

𝑪

𝟐
=

𝑷

𝒔(𝒔−𝒄)
 . 

So,  
𝒕𝒂𝒏

𝑨

𝟐

(𝒂−𝒃)(𝒂−𝒄)
+

𝒕𝒂𝒏
𝑩

𝟐

(𝒃−𝒄)(𝒃−𝒂)
+

𝒕𝒂𝒏
𝑪

𝟐

(𝒄−𝒃)(𝒄−𝒂)
= 

=
𝑷

𝒔
[

𝟏

(𝒂 − 𝒃)(𝒂 − 𝒄)(𝒔 − 𝒂)
+

𝟏

(𝒃 − 𝒂)(𝒃 − 𝒄)(𝒔 − 𝒃)
+

𝟏

(𝒄 − 𝒂)(𝒄 − 𝒃)(𝒔 − 𝒄)
] = 



 

 

=
𝑷

𝒔
∗

−(𝒃 − 𝒄)(𝒔 − 𝒃)(𝒔 − 𝒄) − (𝒄 − 𝒂)(𝒔 − 𝒂)(𝒔 − 𝒄) − (𝒂 − 𝒃)(𝒔 − 𝒂)(𝒔 − 𝒃)

(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)(𝒔 − 𝒂)(𝒔 − 𝒃)(𝒔 − 𝒄)
= 

= −
𝑷

𝒔(𝒔 − 𝒂)(𝒔 − 𝒃)(𝒔 − 𝒄)
∗ 

∗
(𝒃 − 𝒄)(𝒂 − 𝒃 + 𝒄)(𝒂 + 𝒃 − 𝒄) + (𝒄 − 𝒂)(𝒃 + 𝒄 − 𝒂)(𝒂 + 𝒃 − 𝒄) + (𝒂 − 𝒃)(𝒃 + 𝒄 − 𝒂)(𝒂 − 𝒃 + 𝒄)

𝟒(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)

= −
𝑷

𝑷𝟐
∗

𝟒𝒂𝒄𝟐 + 𝟒𝒂𝟐𝒃 − 𝟒𝒂𝟐𝒄 + 𝟒𝒃𝟐𝒄 − 𝟒𝒃𝒄𝟐 + 𝟒𝒂𝒃𝟐

𝟒(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)
=

𝟏

𝑷
∗

𝟒(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)

𝟒(𝒂 − 𝒃)(𝒃 − 𝒄)(𝒄 − 𝒂)
= 

=
𝟏

𝑷
  . 

Q.E.D. 
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